CPI (CONSUMER PRICE INDEX)

FAQs: the UK target measure of inflation
What is the UK inflation target?

In his Pre-Budget Report statement on 10 December 2003, the Chancellor of the Exchequer changed the UK inflation target to one based on the Consumer Price Index (CPI), which was previously called the UK Harmonised Index of Consumer Prices (HICP). The CPI inflation target is set at 2 per cent.

The CPI index is available from January 1996 onwards, giving annual inflation rates from January 1997. Prior to this date, estimates are available back to 1988, together with indicative figures for 1975 to 1987.

Are there any alternative measures?
Yes, the “headline” RPI will continue to be published alongside the CPI.  The RPI has the advantage of having records dating back until at least 1948.  It has a historical precedent.
What are the differences between the CPI and the RPI?
In terms of commodity coverage, CPI excludes a number of items that are included in RPI, mainly related to housing. These include council tax and a range of owner-occupier housing costs such as mortgage interest payments, house depreciation, buildings insurance, estate agents' and conveyancing fees.

The CPI covers all private households, whereas RPI excludes the top 4 per cent by income and pensioner households who derive at least three quarters of their income from state benefits. The CPI also includes the residents of institutional households such as student hostels, and also foreign visitors to the UK. This means that it covers some items that are not in the RPI, such as unit trust and stockbrokers fees, university accommodation fees and foreign students' university tuition fees.

Although the same underlying price data is used in most cases to calculate the two indices, there are some specific differences in price measurement. For example, different methods are used in the CPI and RPI to compile the index for new cars.

Finally, individual prices are combined in the CPI and RPI within each detailed expenditure category according to different formulae. The CPI uses the geometric mean whereas the RPI uses arithmetic means; this lowers the CPI inflation rate relative to the RPI.

Why is there such a big difference between the CPI and RPI inflation rates?
The RPI annual rate generally exceeds the CPI's. 

This is mainly due to the CPI's exclusion of most housing costs that are included in RPI, such as council tax and house depreciation. These housing costs have been rising relatively rapidly over the last few years. 

The different techniques used to combine individual prices in the two indices always reduces CPI inflation relative to RPI - by an average of around 0.5 per cent since 1996.

Which is the better measure of inflation – CPI or RPI?
In terms of their basic usability, there is little to choose between them. Both are published each month, to a common timescale, and are subject to minimal revisions.

The CPI coverage of spending and households is based on the National Accounts and so the CPI benefits from greater coherence with macroeconomic data. The way it combines individual prices also has some statistical benefits, and makes for better comparisons of inflation in different countries.

A key advantage of RPI is their familiarity and credibility based on their longer history. Inevitably, it will be some time before the CPI becomes as widely recognised. The CPI's exclusion of most elements of owner-occupier housing costs lessens its relevance for some users, but this must be weighed against the significant difficulties encountered in measuring such costs appropriately, reflected in the absence of any international consensus in this area.

